

HOUSE of REPRESENTATIVES

STATE OF MICHIGAN

Appropriations Requests for Legislatively Directed Spending Items

1. The sponsoring representative's first name: Will

2. The sponsoring representative's last name: Bruck

3. The cosponsoring representatives' names. All cosponsors must be listed. If none, please type 'n/a.' A signed letter from the sponsor approving the co-sponsorship and a signed letter from the member wishing to co-sponsor are required. Attach letters at question #9 below.

n/a

4. Name of the entity that the spending item is intended for:

Monroe County Road Commission

5. Physical address of the entity that the spending item is intended for:

840 S. Telegraph Road, Monroe, MI 48161

6. If there is not a specific recipient, the intended location of the project or activity: Oakville Waltz Road, to Tuttle Hill Road, to Palmer Road, Monroe County, MI

7. Name of the representative and the district number where the legislatively directed spending item is located:

Will Bruck, 30th House District

- 8. Purpose of the legislatively directed spending item. Please include how it provides a public benefit and why it is an appropriate use of taxpayer funding. Please also demonstrate that the item does not violate Article IV, S 30 of the Michigan Constitution. This funding request proposes widening and resurfacing Oakville Waltz Road between Tuttle Hill Road and Palmer Road to enhance safety and reduce lane departure accidents. The proposed project includes wider lanes, paved shoulders, culvert replacement, rumble strips, and curve improvements. Oakville Waltz Road is a county primary road under the jurisdiction of the Monroe County Road Commission.
- 9. Attach documents here if needed:

Attachments added to the end of this file.

10. The amount of state funding requested for the legislatively directed spending item. 3750000

11. Has the legislatively directed spending item previously received any of the following types of funding? Check all that apply.

["None"]

12. Please select one of the following groups that describes the entity requesting the legislatively directed spending item:

Local unit government

13. For a non-profit organization, has the organization been operating within Michigan for the preceding 36 months?

Not applicable

14. For a non-profit organization, has the entity had a physical office within Michigan for the preceding 12 months?

Not applicable

15. For a non-profit organization, does the organization have a board of directors? Not applicable

- 16. For a non-profit organization, list all the active members on the organization's board of directors and any other officers. If this question is not applicable, please type 'n/a.'
- 17. "I certify that neither the sponsoring representative nor the sponsoring representative's staff or immediate family has a direct or indirect pecuniary interest in the legislatively directed spending item."

Yes, this is correct

18. Anticipated start and end dates for the legislatively directed spending item:

The Monroe County Road Commission anticipates completing the design engineering and utility relocations for the Oakville Waltz Road improvements in 2026 and bidding the project for construction in 2027.

19. "I hereby certify that all information provided in this request is true and accurate."

Yes

Engineer's Opinion of Costs

Project Number: State Earmark **Project Engineer:** Michael L. Smith, PE

Estimate Number: 1

Project Type:

Date Created: 02/16/2024 Road Rehabilitation Date Edited: 04/24/2025

Location: Fed/State #: Oakville Waltz Road

Fed Item: Tuttle Hill Road to Palmer Road

Description: **Control Section:** 1.40 miles of hot mix asphalt widening and resurfacing, aggregate base, drainage, culvert replacement, guardrail,

slope restoration, permanent signing, pavement markings, and sinusoidal corrugations on Oakville Waltz Road from

Tuttle Hill Road to Palmer R

Pay Item **Description Quantity Units Unit Price** Total Line Category: 0001 Roadwork 0001 1100001 Mobilization, Max \$295,000 (10% of other \$295,000.00 \$295,000.00 1.000 LSUM Tree, Rem. 19 inch to 36 inch 0002 2020002 5.000 Fa \$900.00 \$4,500.00 Tree, Rem, 37 inch or Larger \$3,400.00 2020003 0003 2.000 Ea \$1,700.00 Tree, Rem, 6 inch to 18 inch \$15,000.00 0004 2020004 50.000 \$300.00 Ea 2020006 Stump, Rem, 19 inch to 36 inch \$5,000.00 0005 25.000 Ea \$200.00 0006 2020007 Stump, Rem, 37 inch or Larger \$3,000.00 10.000 \$300.00 Ea 2020008 Stump, Rem, 6 inch to 18 inch \$5.000.00 0007 50.000 Ea \$100.00 Culv, Rem, Less than 24 inch \$17,500.00 8000 2030001 35.000 \$500.00 Ea 0009 2040035 Guardrail, Rem \$500.00 100.000 \$5.00 Ft 0010 2040050 Pavt, Rem 50.000 Syd \$30.00 \$1,500.00 2050010 Embankment, CIP \$90,000.00 0011 5.000.000 \$18.00 Cyd \$329,400.00 0012 2050016 Excavation, Earth 18,300.000 \$18.00 Cyd 0013 2050031 Non Haz Contaminated Material Handling 100.000 \$75.00 \$7,500.00 Cyd and Disposal, LM Erosion Control, Check Dam, Stone \$3,500.00 0014 2080012 100.000 Ft \$35.00 0015 2080026 Erosion Control, Maintenance, Sediment \$1,000.00 10.000 Cyd \$100.00 0016 2080034 Erosion Control, Sediment Trap 2.000 \$500.00 Ea \$250.00 \$6,000.00 0017 2080036 Erosion Control, Silt Fence 1,500.000 Ft \$4.00 0018 2090001 Project Cleanup 1.000 LSUM \$15.000.00 \$15,000.00 0019 3020001 Aggregate Base \$280,000.00 7,000.000 Ton \$40.00 Maintenance Gravel \$30,000.00 0020 3060020 400.000 Ton \$75.00

Contract # State Earmark (Oakville Waltz Road Tuttle Hill Road to Palmer Road)

MERL: 2022.6.0

Line	Pay Item	Description	Quantity	Units	Unit Price	Total
0021	3070021	Approach, Cl II	200.000	Ton	\$60.00	\$12,000.00
0022	3070121	Shid, Ci II	1,600.000	Ton	\$40.00	\$64,000.00
0023	4010539	Culv, Cl E, 12 inch	2,300.000	Ft	\$80.00	\$184,000.00
0024	4030005	Dr Structure Cover, Adj, Case 1	2.000	Ea	\$750.00	\$1,500.00
0025	4030040	Dr Structure Cover, Type G	5.000	Ea	\$700.00	\$3,500.00
0026	4030200	Dr Structure, 24 inch dia	5.000	Ea	\$2,000.00	\$10,000.00
0027	4067051	_ Culv at Townsend Drain, Rem and Replace	1.000	LSUM	\$175,000.00	\$175,000.00
0028	5010005	HMA Surface, Rem	1,000.000	Syd	\$12.00	\$12,000.00
0029	5010061	HMA Approach	400.000	Ton	\$250.00	\$100,000.00
0030	5012025	HMA, 4EML	7,500.000	Ton	\$125.00	\$937,500.00
0031	5012037	HMA, 5EML	2,300.000	Ton	\$135.00	\$310,500.00
0032	8070044	Guardrail Approach Terminal, Type 2M	8.000	Ea	\$4,000.00	\$32,000.00
0033	8070080	Guardrail Reflector	10.000	Ea	\$15.00	\$150.00
0034	8070095	Post, Mailbox	40.000	Ea	\$150.00	\$6,000.00
0035	8072179	Guardrail, Type MGS-8, 72 inch Post	100.000	Ft	\$50.00	\$5,000.00
0036	8077050	_ Post, Mailbox, Relocate	40.000	Ea	\$125.00	\$5,000.00
0037	8100371	Post, Steel, 3 pound	400.000	Ft	\$12.00	\$4,800.00
0038	8100403	Sign, Type III, Rem	30.000	Ea	\$25.00	\$750.00
0039	8100404	Sign, Type IIIA	60.000	Sft	\$25.00	\$1,500.00
0040	8100405	Sign, Type IIIB	120.000	Sft	\$25.00	\$3,000.00
0041	8100616	Reflective Panel for Permanent Sign Support, 6 foot	15.000	Еа	\$50.00	\$750.00
0042	8110231	Pavt Mrkg, Waterborne, 4 inch, White	14,500.000	Ft	\$0.20	\$2,900.00
0043	8110232	Pavt Mrkg, Waterborne, 4 inch, Yellow	5,000.000	Ft	\$0.20	\$1,000.00
0044	8110251	Pavt Mrkg, Waterborne, 2nd Application, 4 inch, White	14,500.000	Ft	\$0.15	\$2,175.00
0045	8110252	Pavt Mrkg, Waterborne, 2nd Application, 4 inch, Yellow	5,000.000	Ft	\$0.15	\$750.00
0046	8120012	Barricade, Type III, High Intensity, Double Sided, Lighted, Furn	10.000	Ea	\$150.00	\$1,500.00
0047	8120013	Barricade, Type III, High Intensity, Double Sided, Lighted, Oper	10.000	Ea	\$50.00	\$500.00
0048	8120170	Minor Traf Devices		LSUM	\$50,000.00	\$50,000.00
0049	8120246	Pavt Mrkg, Wet Reflective, Type R, Tape, 4 inch, Yellow, Temp	600.000	Ft	\$3.00	\$1,800.00

Line	Pay Item	Description	Quantity	Units	Unit Price	Total
0050	8120252	Plastic Drum, Fluorescent, Furn	200.000	Ea	\$35.00	\$7,000.00
0051	8120253	Plastic Drum, Fluorescent, Oper	200.000	Ea	\$5.00	\$1,000.00
0052	8120310	Sign Cover	10.000	Ea	\$40.00	\$400.00
0053	8120330	Sign, Portable, Changeable Message, Furn	2.000	Ea	\$5,000.00	\$10,000.00
0054	8120331	Sign, Portable, Changeable Message, Oper	2.000	Ea	\$500.00	\$1,000.00
0055	8120350	Sign, Type B, Temp, Prismatic, Furn	1,000.000	Sft	\$7.00	\$7,000.00
0056	8120351	Sign, Type B, Temp, Prismatic, Oper	1,000.000	Sft	\$1.00	\$1,000.00
0057	8120352	Sign, Type B, Temp, Prismatic, Spec, Furn	150.000	Sft	\$10.00	\$1,500.00
0058	8120353	Sign, Type B, Temp, Prismatic, Spec, Oper	150.000	Sft	\$1.00	\$150.00
0059	8120370	Traf Regulator Control	1.000	LSUM	\$50,000.00	\$50,000.00
0060	8162002	Slope Restoration, Non-Freeway, Type B	24,000.000	Syd	\$5.00	\$120,000.00
0061	8210001	Monument Box	1.000	Ea	\$500.00	\$500.00
0062	8210010	Monument Preservation	1.000	Ea	\$2,000.00	\$2,000.00
0063	8220035	Sinusoidal Corrugations, Non-Freeway, Milled, HMA Shld	14,000.000	Ft	\$0.50	\$7,000.00
0064	8230096	Hydrant, Relocate, Case 2	4.000	Ea	\$5,000.00	\$20,000.00

Category 0001 Total: \$3,271,425.00

Line	Pay Item	Description	Quantity	Units	Unit Price	Total
Categ	ory: 0002	Construction Engineering				
0065	8507060	_ Construction Engineering (10% of \$3,200,000)	320,000.000	Dlr	\$1.00	\$320,000.00
0066	8507060	_ Design Engineering (5% of \$3,200,000)	160,000.000	Dlr	\$1.00	\$160,000.00

Category 0002 Total: \$480,000.00

Line Pay Item Description Quantity Units Unit Price Total

Estimate Total: \$3,751,425.00